CHEMISTRY

BOOKS - TARGET CHEMISTRY
(HINGLISH)

PERIODIC CLASSIFICATION OF
ELEMENTS

Choose The Correct Alternative



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The number of electrons in the outermost

shell of alkali metals is

Al

B.2

C.3

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GTwwumBKX2Gz
https://dl.doubtnut.com/l/_d8QvLXpPVTrD

2. Alkaline earth metals have valency 2. This

means that their position in the modern

periodic table is in ...

A. group 2

B. group 16

C. period 2

D. d-block

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_d8QvLXpPVTrD
https://dl.doubtnut.com/l/_KN4puwfRYDjQ

3. Molecular formula of the chloride of an
element X is XCl. This compound is a solid
having high melting point. Which of the
following elements be present in the same
group as X.

A. Na

B. Mg

C. Al

D. Si

Answer:



https://dl.doubtnut.com/l/_KN4puwfRYDjQ

\ o Watch Video Solution

4.n which block of the modern periodic table

are the nonmetals found?

A. s-block

B. p-block

C. d-block

D. f-block

Answer:

l o Watch Video Solution


https://dl.doubtnut.com/l/_KN4puwfRYDjQ
https://dl.doubtnut.com/l/_I83PTYUA2ISB

5. A student was asked to select two elements
in a periodic table . He selects neon and argon
. In both these elements, the number of

electrons in the outermost shell is

A2
B.6
C.7

D.8


https://dl.doubtnut.com/l/_I83PTYUA2ISB
https://dl.doubtnut.com/l/_VCBPfN41ehMe

Answer: D

° Watch Video Solution

6. Four students note down the name of two
metals from period 3 . Itbr) Rita: Sodium and
silicon

Nilesh: Magnesium and aluminium

Rohan: Sodium and potassium

Preeti: Sodium and aluminium

Who have correctly noted down the names of

the metals?


https://dl.doubtnut.com/l/_VCBPfN41ehMe
https://dl.doubtnut.com/l/_ZFUCI8be4e2a

A. Rita and Preeti

B. Nilesh and Preeti

C. Rita and Rohan

D. Only Preeti

Answer: B

o Watch Video Solution

7. Deduce the maximum electron holding

capacity of the shells K, L and M?


https://dl.doubtnut.com/l/_ZFUCI8be4e2a
https://dl.doubtnut.com/l/_zXPwtGomgqqc

A2

B.8

C.18

D. 32

Answer: D

° Watch Video Solution

8. The correct decreasing order atomic radius

IS:


https://dl.doubtnut.com/l/_zXPwtGomgqqc
https://dl.doubtnut.com/l/_NRPakOUsU21r

AF>0>S8S

B.EF >8>0

CS>F>0

D.S >0 > F

Answer: D

o Watch Video Solution

9. When a small piece of beryllium was added
to water taken in a beaker, what will you

observe?


https://dl.doubtnut.com/l/_NRPakOUsU21r
https://dl.doubtnut.com/l/_8dkdjuSnblou

A.Vigorous chemical reaction occurs with

evolution of a gas.

B. Formation of precipitate is seen .

C. Colour of solution turns black.

D. No reaction occurs.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_8dkdjuSnblou

10. The correct increasing order of reactivity of

alkaline earth metals with water is:

A.Be < Mg < Ca < Sr < Ba

B.Be < Mg < Ca < Ba < Sr

C.Ba < Mg < Ca < Sr < Be

D. Be < Ca < Mg < Sr < Ba

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_VcYD5aARcoNB
https://dl.doubtnut.com/l/_VDIvDhNQ7y6b

11. Which one of the following does not

increase while moving down the group of the

periodic table ?

A. Atomic radius

B. Metallic character

C. Valence electrons

D. Number of shell

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VDIvDhNQ7y6b
https://dl.doubtnut.com/l/_8octXbS6R0ro

12. Valency of the elements in the halogen

groupis .

A.one

B. two

C. three

D. four

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_8octXbS6R0ro

13. The most reactive element in the halogen

group is

A. astetine

B. iodine

C. chlorine

D. fluorine

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_yDSpqn523Rin
https://dl.doubtnut.com/l/_DNbOJBUNb6CT

14. The halogen which is liquid at room

temperature is ...

A. fluorine

B. astetine

C. bromine

D. iodine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DNbOJBUNb6CT

15. The metallic charater of elements

group from top to bottom.

A. iIncreases

B. decreases

C.remains constant

D. shows indefinite behaviour

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_tZdVQVX2g4Z2
https://dl.doubtnut.com/l/_zFvsfbYTAErp

16. Valency of elements in a period from

left to right.

A. Increases

B. decreases

C.remains constant

D.increases in the beginning and then

decreases

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_zFvsfbYTAErp
https://dl.doubtnut.com/l/_OBu6NIlF7IRf

17. Which of the following is the lightest inert

gas?

A. Argon

B. Helium

C. Neon

D. Xenon

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_OBu6NIlF7IRf
https://dl.doubtnut.com/l/_ypT52zJbCjEK

18. An inert gas element placed in period 6 is

used in the treatment of cancer . Identify the

element.

A. Xenon

B. Radon

C. Argon

D. Krypton

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_ypT52zJbCjEK

Complete The Paragraph

1. Select the appropriate options and complete
the following paragraph.

(2, 7, 18, 32, atomic mass, atomic number,
hydrogen, lithium)

In the modern periodic table, all known
elements are listed in increasing order of their
. It start with the lightest elements . The

group and

preiods . The first period contains only


https://dl.doubtnut.com/l/_bINLF9HIQ1vF

elements while the seventh period contains

elements .

° View Text Solution

Name The Following

1. The period with electrons in the shells K, L

and M

o View Text Solution



https://dl.doubtnut.com/l/_bINLF9HIQ1vF
https://dl.doubtnut.com/l/_ZMQWOWKcbGRO

2. The valency is zero for

o Watch Video Solution

3. The family of nonmetals having valency one

o View Text Solution

4. The family of metals having valency one

o Watch Video Solution



https://dl.doubtnut.com/l/_SdTLIJBPugwn
https://dl.doubtnut.com/l/_yp3nrUKthlON
https://dl.doubtnut.com/l/_UIzDHESnuG9m

5. The family of metals having valency two

o Watch Video Solution

6. Name the first element of group 16

o Watch Video Solution

7.The group 18 element placed in period 3

o Watch Video Solution



https://dl.doubtnut.com/l/_jUU0kEwYSfqD
https://dl.doubtnut.com/l/_Md6ZZPa6HTI8
https://dl.doubtnut.com/l/_kgHNmCMmTQ9E

8. The element having atomic number 92

o Watch Video Solution

9. The Halogen which is solid at room

temperature is

o Watch Video Solution

10. The inert gas which contains electrons in K

and L shells only



https://dl.doubtnut.com/l/_6qAKFE82EOk4
https://dl.doubtnut.com/l/_JWMy8AfPMwsJ
https://dl.doubtnut.com/l/_YOrRvj1pKhuG

View Text Solution

11. The alkaline earth metal which does not

react with water

° View Text Solution

12. The alkaline earth metal that reacts with

steam only

o Watch Video Solution



https://dl.doubtnut.com/l/_YOrRvj1pKhuG
https://dl.doubtnut.com/l/_GpbIpJU9YkUS
https://dl.doubtnut.com/l/_IHjVCUkmgcuT

True Or False

1. Atomic number (Z) of an element is the
number of protons present in the nucleus of

an atom of that element..

° Watch Video Solution

2. Gallium oxide (Ga30s) is an amphoteric

oxide.

o Watch Video Solution



https://dl.doubtnut.com/l/_qTm13sYTUDcx
https://dl.doubtnut.com/l/_hURtHaiM2xVS

3. Hydrogen resembles alkali metals as well as

halogens.

o Watch Video Solution

4. In the long form of periodic table, groups 3

to 12 constitute the p-block.

o Watch Video Solution



https://dl.doubtnut.com/l/_Spr3copog54r
https://dl.doubtnut.com/l/_lccfzh6pPS6Q

5. One picometer (pm) is equal to 10~ '2 meter

o Watch Video Solution

6. Atomic radius increases while going from

left to right within a period.

o Watch Video Solution



https://dl.doubtnut.com/l/_OhVRvGb4ghM3
https://dl.doubtnut.com/l/_TSQcZW7DPpff

7. Electronegativity increases while going from

left to right within a period.

° Watch Video Solution

8. Smaller the  electropositivity or
electronegativity of the element higher the

reactivity.

° Watch Video Solution



https://dl.doubtnut.com/l/_v1qKo68G8iyq
https://dl.doubtnut.com/l/_D57rtJ3DJeeh

9. The valency of group 16 elements 2 .

o Watch Video Solution

Odd One Out

1. Lithium, beryllium, boron, chlorine

° Watch Video Solution

2. Beryllium, magnesium, potassium, calcium


https://dl.doubtnut.com/l/_L2ueoUo6oyXu
https://dl.doubtnut.com/l/_NIzhu2AHJQP3
https://dl.doubtnut.com/l/_cHJeJnDwK9xM

° Watch Video Solution

3. Fluorine, helium, neno, argon

° Watch Video Solution

4, Carbon, nitrogen, fluorine, sulphur

° Watch Video Solution

5. Lithium, sodium, magnesium, potassium


https://dl.doubtnut.com/l/_cHJeJnDwK9xM
https://dl.doubtnut.com/l/_AP3jEgOYA5IY
https://dl.doubtnut.com/l/_s4UUZL19Q6GP
https://dl.doubtnut.com/l/_suyNEOa1ZZBU

° Watch Video Solution

6. Fe, Co, Ni, Al

° Watch Video Solution

7.Fluorine, oxygen, bromine, iodine

° Watch Video Solution

Complete The Analogy


https://dl.doubtnut.com/l/_suyNEOa1ZZBU
https://dl.doubtnut.com/l/_MstaGJ9WpPmb
https://dl.doubtnut.com/l/_tYbR9keW3DVf
https://dl.doubtnut.com/l/_STzHlDb2DoMT

1. Gallium oxide : GayO3 :: Gallium

chloride :

o Watch Video Solution

2. Molecular formula of beryllium oxide : BeO :

Molecular formula of beryllium chloride

o Watch Video Solution



https://dl.doubtnut.com/l/_STzHlDb2DoMT
https://dl.doubtnut.com/l/_PuCvTbtWQQCM

3. Li: Second period : : Al :

o Watch Video Solution

4. Alkali metals : s-Block : : Transition elements

5. Sulphur : : : Calcium: (2, 8, 8, 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_BZI9FC5f4n5w
https://dl.doubtnut.com/l/_7e0iTvSdhVRa
https://dl.doubtnut.com/l/_2wAX8VFKYPBY

6. Valency of potassium atom : one : : Valency

of argon atom :

o Watch Video Solution

Match The Following

1. Rearrange the columns 2 and 3 so as to

match with the column 1.


https://dl.doubtnut.com/l/_2wAX8VFKYPBY
https://dl.doubtnut.com/l/_0Lmz1Cc7kBjb
https://dl.doubtnut.com/l/_6ZME4wQHtNQ3

E Column 1

i. | Triad

ii. | Octave

Column2 | Column3 |

7 Lightest and

negatively

charged ‘
particle in all

theatoms
Concentrated
mass and
positive
charge

1. Mendeleev

1
|

2. #Th—o—mson

iii. | Atomic
number

Average = of
the first and
the third
atomic mass

3. | Newlands

iv. | Period

Properties of
the eighth
element

similar to the

first

4. | Rutherford

v. | Nucleus

Positive
charge on the
nucleus

5. | Dobereiner

vi. | Electron

change in

Sequential

molecular

formulae

6. | Moseley

° Watch Video Solution



https://dl.doubtnut.com/l/_6ZME4wQHtNQ3

2. Match the groups given in Column | with the
corresponding blocks of the periodic table

given in Column II.

Column I 5y ‘Column II
i.  Alkali metals a. | Group 17
G Alkaline earth | b. Group 1

 metals ;
iii. Halogen family | c. | Group 18
iv. Inertgases | Group 2

e

° Watch Video Solution

3. Match the elements given in Group 'A" with

their electronic configuration given in Group


https://dl.doubtnut.com/l/_Y6FZOhgrJKon
https://dl.doubtnut.com/l/_MzqXF0G3qAuA

'B'.

| Group‘A® | | Group‘B’ |
i. Potassium a. 2,8,1)
ii. Aluminium b (2,8,8,1)
C. (2,8,3)
L d | (2,8,2)

° Watch Video Solution

4. Match the groups given in Column | with

the corresponding block of the periodic table

given in Column II.

( Column I Column 11
"i. | Groups 1 and 2 a. p-block
[ ii. | Groups 3 to 12 b. | d-block
{ c. | f-block
| d. | s-block



https://dl.doubtnut.com/l/_MzqXF0G3qAuA
https://dl.doubtnut.com/l/_idYJVvLoJcen

o Watch Video Solution

Answer The Following

1. State Dobereiner's law of traids giving one

example .

° Watch Video Solution

2. In Dobereiner's triads Li, Na, K the atomic

masses of lithium and potassium are 6.9 and


https://dl.doubtnut.com/l/_idYJVvLoJcen
https://dl.doubtnut.com/l/_yuobYcSjGnaM
https://dl.doubtnut.com/l/_PcE6r2r5mANq

39.1 respectively, then what will be the atomic

mass of sodium?

° Watch Video Solution

3. State the drawback of Dobereiner's triads:

° View Text Solution

4. Chlorine, bromine and iodine form a

Dobereiner's triad . Chlorine has atomic mass


https://dl.doubtnut.com/l/_PcE6r2r5mANq
https://dl.doubtnut.com/l/_ySDdznxU22AW
https://dl.doubtnut.com/l/_TTkTWI62QrK2

35.5 and iodine has atomic mass 126.9

the atomic mass of bromine.

. Predict

° Watch Video Solution

5. State Newlands' law of octaves.

° Watch Video Solution

6. State Newlands' law of octaves.

° Watch Video Solution



https://dl.doubtnut.com/l/_TTkTWI62QrK2
https://dl.doubtnut.com/l/_hDQoiaUlnVrp
https://dl.doubtnut.com/l/_7RGht5ZztM9f

7. What were the limitations of Newlands’ Law

of Octaves?

° Watch Video Solution

8. State Mendeleev's periodic law.

° Watch Video Solution

9. State Mendeleev's periodic law.

° Watch Video Solution



https://dl.doubtnut.com/l/_kg2lYmY4IZVQ
https://dl.doubtnut.com/l/_I9ZDGkfR2Aq5
https://dl.doubtnut.com/l/_3qI1NCXJ2dJs

10. Write merits of Mendeleev's periodic table.

o View Text Solution

11. What are the limitations of Mendeleev's
periodic

table?

o Watch Video Solution



https://dl.doubtnut.com/l/_3qI1NCXJ2dJs
https://dl.doubtnut.com/l/_SQRTCJ7w9uR1
https://dl.doubtnut.com/l/_u4eXBGfbTVq0

12 What is the difference between
Mendeleev's periodic law and modern periodic

law?

o View Text Solution

13. State Modern periodic law.

o Watch Video Solution



https://dl.doubtnut.com/l/_EFifwfK1Xe97
https://dl.doubtnut.com/l/_tBy3E74wJatt

14. Write short note on: Structure of the

modern periodic table.

o View Text Solution

15. Give four examples of each of the following:

i. Nonmetals

o Watch Video Solution

16. s-Block elements



https://dl.doubtnut.com/l/_lKHnaUqtgBOb
https://dl.doubtnut.com/l/_YT7HSmgSXMW4
https://dl.doubtnut.com/l/_XDulyMif7EN7

View Text Solution

17. Alkali metals (or group 1 elements)

o View Text Solution

18. Alkaline earth metals (or group 2 elements)

o View Text Solution

19. p-Block elements.



https://dl.doubtnut.com/l/_XDulyMif7EN7
https://dl.doubtnut.com/l/_AwvoMtiEfjYP
https://dl.doubtnut.com/l/_xOi8HuqIe45a
https://dl.doubtnut.com/l/_hArFSDAWJzYS

o Watch Video Solution

20. d-block elements

o View Text Solution

21. Halogen family

o View Text Solution

22. Period 2 elements



https://dl.doubtnut.com/l/_hArFSDAWJzYS
https://dl.doubtnut.com/l/_Y0RzEaT2g9YR
https://dl.doubtnut.com/l/_L34RDDqn4AHm
https://dl.doubtnut.com/l/_oWqbsABQFwZf

View Text Solution

23. Period 3 elements

o View Text Solution

24. Write short note on: Position of isotopes in
the Mendeleev's and the modern periodic

table.

o View Text Solution



https://dl.doubtnut.com/l/_oWqbsABQFwZf
https://dl.doubtnut.com/l/_RXsoDaOp47cg
https://dl.doubtnut.com/l/_1kd5luchjFqB
https://dl.doubtnut.com/l/_4ZUef533AkQ9

25. What is meant by periodic trends in the

modern periodic table ?

o Watch Video Solution

26. Define: Atomic radius (Atomic size)

o View Text Solution

27. How is the ability to lose or accept

electrons in the valence shell determind?

| & I


https://dl.doubtnut.com/l/_4ZUef533AkQ9
https://dl.doubtnut.com/l/_oSWGQt3myZYq
https://dl.doubtnut.com/l/_W81dSqEtsXip

| ¥ Watch Video Solution |

28. What is meat by the term electropositivity

of an element?

o Watch Video Solution

29. How does metallic character very in a

period and a group?

o View Text Solution



https://dl.doubtnut.com/l/_W81dSqEtsXip
https://dl.doubtnut.com/l/_NgUCtEBDpTCA
https://dl.doubtnut.com/l/_DOIdTiSqOIlF
https://dl.doubtnut.com/l/_o7F0cozOWqNU

30. Write the names from the description.
The metalloids in the second and third

periods.

o Watch Video Solution

31. Nonmetals in the third period.

o Watch Video Solution

32. Two elements having valency 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_o7F0cozOWqNU
https://dl.doubtnut.com/l/_FkjkjD6ClrUz
https://dl.doubtnut.com/l/_YGItrjt2g6te

33. What is the cause of nhonmetallic character

of elements?

o Watch Video Solution

34. What is the expected trend in the variation
of nonmetallic character of elements from left

to right in a period?

o Watch Video Solution



https://dl.doubtnut.com/l/_YGItrjt2g6te
https://dl.doubtnut.com/l/_Yv1gYTqEJKfA
https://dl.doubtnut.com/l/_1crsjlPAZYoL
https://dl.doubtnut.com/l/_3yEOUpyWyDjb

35. What would be the expected trend in the
variation of nonmetallic character of elements

down a group?

° Watch Video Solution

36. Answer the following question with respect
to the modern periodic table.
I. Explain the gradation in reactivity of halogen

family.

o Watch Video Solution



https://dl.doubtnut.com/l/_3yEOUpyWyDjb
https://dl.doubtnut.com/l/_TM7dVLdgscI7

37. What are the similarities in properties of

elements in halogen family?

o Watch Video Solution

38. Why are inert gases placed in zero group?

o View Text Solution

39. Write a short note on noble gases.

o Watch Video Solution



https://dl.doubtnut.com/l/_bMkyufu680sm
https://dl.doubtnut.com/l/_3AJ0eFch04Uc
https://dl.doubtnut.com/l/_osbu4ianKmXx

40. Write the name and symbol of the element
from the description.

I. The atom having the smallest size.

° View Text Solution

41. Write the name and symbol of the element

The atom having the smallest atomic mass.

o Watch Video Solution



https://dl.doubtnut.com/l/_osbu4ianKmXx
https://dl.doubtnut.com/l/_XFKD4qqF8mXG
https://dl.doubtnut.com/l/_KztJQFC5uyr3
https://dl.doubtnut.com/l/_rgDbb1QOwa8a

42. Write the name and symbol of the element

The most electronegative atom.

o Watch Video Solution

43. The noble gas with the smallest atomic

radius.

o Watch Video Solution



https://dl.doubtnut.com/l/_rgDbb1QOwa8a
https://dl.doubtnut.com/l/_nS5eFlqfTlSk

44. Write the name and symbol of the element

The most reactive nonmetal.

° Watch Video Solution

45, An element has its electronic configuration
as (2,8,2). Now answer the question.

What is the atomic number of this element?

° Watch Video Solution



https://dl.doubtnut.com/l/_iALMFtbfxXuf
https://dl.doubtnut.com/l/_xTc1RxyBBsCC

46. An element has its electronic configuration
as (2,8,2). Now answer the question.

What is the group of this element?

o Watch Video Solution

47. An element has its electronic configuration
as (2,8,2). Now answer the question.

To which period does this element belong?

o Watch Video Solution



https://dl.doubtnut.com/l/_LbYHjgiPoSnG
https://dl.doubtnut.com/l/_o6e1stKnG77Q
https://dl.doubtnut.com/l/_QgyB1iQ2d0q8

48. An element has its electronic configuration
as (2,8,2). Now answer the question.

With which of the following elements would
this element resemble? (Atomic number are
given in the brackets)

N(7), Be(4), Ar(18), CI(17)

o Watch Video Solution

49, What is the difference between
electronegativity

and electropositivity?


https://dl.doubtnut.com/l/_QgyB1iQ2d0q8
https://dl.doubtnut.com/l/_hov1nrBnCfYc

° Watch Video Solution

50. Consider the elements of period 2 in the
modern periodic table. Answer the following
questions with explanation.

Name the element in which both the shells are

completely filled with electrons.

° Watch Video Solution



https://dl.doubtnut.com/l/_hov1nrBnCfYc
https://dl.doubtnut.com/l/_iQRiZcAaDDWw

51. Consider the elements of period 2 in the
modern periodic table. Answer the following
questions with explanation.

Name the element which has same number of

electrons in the first and second shell.

o Watch Video Solution

52. Consider the elements of period 2 in the
modern periodic table. Answer the following

questions with explanation.


https://dl.doubtnut.com/l/_oanigq9alHeC
https://dl.doubtnut.com/l/_xVKKN1fVvS9H

Which is the most electropositive element in

this period?

° Watch Video Solution

53. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with
explanation.

.3 Li, .14 St, .9 He, .11 Na, .15 P

Which of these elements belong to period 3?

° Watch Video Solution



https://dl.doubtnut.com/l/_xVKKN1fVvS9H
https://dl.doubtnut.com/l/_X2DVltEqhTVN

54.Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with
explanation.

1 H, .7 N, .90 Ca, .16 5, .1 Be, .13 Ar

Which of these elements belong to the second

group ?

o Watch Video Solution



https://dl.doubtnut.com/l/_X2DVltEqhTVN
https://dl.doubtnut.com/l/_kbXlwDisOafw

55. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with
explanation.

75.6C, .80, .5 B, .13 Al

Which is the most electronegative element

among these?

o Watch Video Solution



https://dl.doubtnut.com/l/_idlGpspTFN41

56. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with
explanation.

4 Be, 4C, .50, .5 B, .13 Al

Which is the most electropositive element

among these?

o Watch Video Solution



https://dl.doubtnut.com/l/_XzQr850VVz7z

57. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with
explanation.

11 Na, .15 P, .17 Cl, .14 51, .10 Mg

Which of these has the largest atoms?

o Watch Video Solution

58. Write down the electronic configuration of

the following elements from the given atomic


https://dl.doubtnut.com/l/_SfnVX5jbe5IK
https://dl.doubtnut.com/l/_slCkVYhQjrNz

numbers. Answer the following question with
explanation.

.19 K, .3 L1, .11 Na, .4 Be

Which of these atoms has the smallest atomic

radius?

o Watch Video Solution

59. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with

explanation.


https://dl.doubtnut.com/l/_slCkVYhQjrNz
https://dl.doubtnut.com/l/_MA1QfWzEQqq5

13 Ai, .14 St, .11 Na, .10 Mg, .16 S
Which of the above elements has the highest

metallic character?

o Watch Video Solution

60. Write down the electronic configuration of
the following elements from the given atomic
numbers. Answer the following question with

explanation.

.60,.3Li,.9F,.7N,.80


https://dl.doubtnut.com/l/_MA1QfWzEQqq5
https://dl.doubtnut.com/l/_fXEAmjvGBS1E

Which of the above elements has the highest

nonmetallic character?

° Watch Video Solution

Give Reasons

1. The third period contains only eight

elements even though the electron capacity of

the third shell is 18.

° View Text Solution



https://dl.doubtnut.com/l/_fXEAmjvGBS1E
https://dl.doubtnut.com/l/_Gl4WgWIOdWA0
https://dl.doubtnut.com/l/_srJTTIsfHdn8

2. Elements belonging to the same group have

the same valency. Give reason

o Watch Video Solution

3. Atomic radius goes on decreasing while
going from left to right in a period. Give

reason

o Watch Video Solution



https://dl.doubtnut.com/l/_srJTTIsfHdn8
https://dl.doubtnut.com/l/_GeHedP15UKwS

4. Atomic radius goes on increasing down a

group. Give reason

o Watch Video Solution

5. Metallic character goes on decreasing while
going from left to right in a period. Give

reason

o Watch Video Solution

Distinguish Between


https://dl.doubtnut.com/l/_4REyK2qmRppW
https://dl.doubtnut.com/l/_2a4ZPkL1AQKV

1. What are the basic differences between
Mendeleev's periodic table and modern

periodic table?

o Watch Video Solution

2. Metallic character and nonmetallic character

o View Text Solution

Complete The Given Chart Table



https://dl.doubtnut.com/l/_BJaYjkrEm6Xv
https://dl.doubtnut.com/l/_JlSs1e8R0s7C

1. Complete the following table.

Triad .~ Elements  Atomic mass
- Lithium (Li) - 6.9
A ' Sodium (Na) 1 -
' Potassium (K) | 39
| Calcium (Ca) 40.1
B Strontium (Sr) -
| Barium (Ba) 1373 |

O Watch Video Solution



https://dl.doubtnut.com/l/_YdsUrafmgekE

2. Complete the following table.

Atomic  Electronic Type of

Element  'No.  configuration element
Sodium 11 * 281  Metal
Magnesium 12 282 -
- 13 283  Metal
‘Silicon 14 -  Metalloid
Phosphorus 15 285 -
- 16 - Nonmetal
Chlorine ~ 17 287  Nonmetal

° Watch Video Solution

Questions Based On Diagram

1. Draw electronic configuration diagram for:

Potassium


https://dl.doubtnut.com/l/_D3R8ilVVg6MO
https://dl.doubtnut.com/l/_0VZB8geRThCs

° Watch Video Solution

2. Draw electronic configuration diagram for:

Argon

o Watch Video Solution

3. Find out the number of valence electrons

and valency of the atoms represented in the


https://dl.doubtnut.com/l/_0VZB8geRThCs
https://dl.doubtnut.com/l/_W4FYFyEb7TWa
https://dl.doubtnut.com/l/_DU7nQ5uMpxSd

following figures.

° Watch Video Solution

4. Find out the number of valence electrons

and valency of the atoms represented in the


https://dl.doubtnut.com/l/_DU7nQ5uMpxSd
https://dl.doubtnut.com/l/_ogrmRxV2cL3T

following figures.

o Watch Video Solution

5. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_ogrmRxV2cL3T
https://dl.doubtnut.com/l/_0n04TVVAIhS8

A B

Indentify elements A and B.

° Watch Video Solution

6. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_0n04TVVAIhS8
https://dl.doubtnut.com/l/_Qtk4iYYOrIAX

Do these elements belong to the same group

? Justify your answer.

° Watch Video Solution

7. Atoms of two different elements are

represented in the following diagram.


https://dl.doubtnut.com/l/_Qtk4iYYOrIAX
https://dl.doubtnut.com/l/_6cE4geghzC4r

A B

Which element is more electropositive ?

Explain with reason.

° Watch Video Solution

8. Study the following periodic table. A student

has marked two periodic trends incorrectly.


https://dl.doubtnut.com/l/_6cE4geghzC4r
https://dl.doubtnut.com/l/_mI3u3TgQqZAd

Indentify these trends.

i Metal
[ Metalloid By

D Nonmetal Increasing atomic radius

Increasing electropositivity
ing allic ch
Increasing valency

o Watch Video Solution

9. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_mI3u3TgQqZAd
https://dl.doubtnut.com/l/_U1HtdDg2x45X

He
1 1 5
Li Be B C N /6) F Ne
21 2,1 |22 23 | 2,4 | 2,5 | 26 | 2,7 | 2.8
Na | Mg Al | si P S Cl Ar
312,81]238.2 2.8,312,8,4(2,8,5]2,8,6/2,8,7/28.,8
K Ca
4 p,8.8 12,882
Sr

6
1
Ra 2
3
4

Potassium atom

Write the atomic numbers of first two

elements in the second group.

° Watch Video Solution

10. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_U1HtdDg2x45X
https://dl.doubtnut.com/l/_jEsE0zyPYfX9

1 2 13 14 15 16 17 18
H
He
1 1 5
Li Be B C N /o) F Ne
21 2.1 | 22 2,3 | 2,4 | 2,5 2,6 | 2,7 | 2.8
Na | Mg Al Si P S Cl Ar
3 12.8,1(2,8,2 2,8,312,84[2,85|2,86]2,87]2.8.8
K Ca
4 2.8,8,1/2,8,8.2
Sr
5
Ba
6
Ra
7 L

Potassium atom

Write the number of valence electrons of the

elements in the halogen group.

o Watch Video Solution

11. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_jEsE0zyPYfX9
https://dl.doubtnut.com/l/_qvgHLtKtUeZN

He
1 1 2
Li Be B C N 0 F Ne
20 2.1 | 2.2 23 | 2.4 | 2.5 | 226 | 2.7 | 2.8
Na | Mg Al Si p S Cl Ar
3 12.8.1]2.82 2.8.3(2,84(2,85|2.86[287/[2.8.38
K Ca

(=2}
=
i)
AMNQ

Argon atom

Potassium atom

The diagram of electronic configuration of

magnesium atom is as follows:

° Watch Video Solution

12. Observe the following diagram and write

the answers of the following question


https://dl.doubtnut.com/l/_qvgHLtKtUeZN
https://dl.doubtnut.com/l/_VoYimPF3W76r

H He
1 1 5
Li Be B C N 0 F Ne
20 2.1 | 22 23 | 224 | 2,5 | 26 | 2,7 | 2.8
Na | Mg Al Si P S Cl Ar
312.8102,8,2 2,8,3[2,84]2,85]2,86(2,87(28.8
K Ca
4 .8 8 128,82
Sr

Ba

Ra

(=) wn
AwNQ

Argon atom

Potassium atom

After completion of a period, what change
does take place in the electronic configuration

of the next element?

o Watch Video Solution



https://dl.doubtnut.com/l/_VoYimPF3W76r

13. Observe the following diagram and write

the answers of the following question

1 2 13 14 15 16 17 18
H He |
1 | 5
Li Be B C N 0] F Ne
221 | 22 2.3 | 2.4 | 2.5 2.6 | 2.7 | 2.8
Na Mg Al Si P S Cl Ar
312,81 12.8.2 2.8.3 2.8,4(2,8.5]2,86|2.87]2.8.38
K Ca
4 p.g.s8 12882

=N t
= jos)
Y o
LbJNQ

. Argon atom
Potassium atom

Write the names of any two elements from the

diagram which do not take part in chemical

reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_1dG4tBoGFbQD
https://dl.doubtnut.com/l/_ibaDDjBo1134

14. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

|

4 s o0 TN o901y |B/DA

T Iel

|
|
|
\
|
|

Which element is a metalloid? Name this

element.

o Watch Video Solution



https://dl.doubtnut.com/l/_ibaDDjBo1134
https://dl.doubtnut.com/l/_bgJRGroElzhP

15. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

C 34 5 6 7% 91011120 |B|DA

Among 'C' and 'D' which element has larger

atomic radius?

o Watch Video Solution



https://dl.doubtnut.com/l/_bgJRGroElzhP

16. Study the below given periodic table in
which four elements are indicated by

alphabets: A, B, C and D.

1 TEERERIERE

|
s V4 s o6 T8 ulolli |BIDIA

|

1
|
|
i
|

M
\

Identify element 'A' and write its electronic

configuration.

o Watch Video Solution



https://dl.doubtnut.com/l/_YRikAfKrH5cY

Questions Based On Paragraph

1. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_eOxZhMjosIr3

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

State the law on which modern periodic table

is based.

o View Text Solution

2. In the modern periodic table, the elements
are arranged in the increasing order of their

atomic number. This arrangement is based on


https://dl.doubtnut.com/l/_eOxZhMjosIr3
https://dl.doubtnut.com/l/_zvnQUhbOEVX2

the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and
gradation in properties. This is due to the
same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

How many groups are there in the modern

periodic table?


https://dl.doubtnut.com/l/_zvnQUhbOEVX2

O Watch Video Solution

3. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_zvnQUhbOEVX2
https://dl.doubtnut.com/l/_B2AFTaskz3Wn

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

What is the number of valence electrons in an

element of group 1 and group 18 respectively?

° Watch Video Solution

4. In the modern periodic table, the elements
are arranged in the increasing order of their

atomic number. This arrangement is based on


https://dl.doubtnut.com/l/_B2AFTaskz3Wn
https://dl.doubtnut.com/l/_QNaYEpjFpusN

the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and
gradation in properties. This is due to the
same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

What is the trend in the variation of valency

while going down a group?


https://dl.doubtnut.com/l/_QNaYEpjFpusN

° Watch Video Solution

5. In the modern periodic table, the elements
are arranged in the increasing order of their
atomic number. This arrangement is based on
the modern periodic law, which states that the
properties of elements are a periodic function
of their atomic numbers. In the modern
periodic table, each column is called a group
and each row is called a period. Elements
within the same group show similarity and

gradation in properties. This is due to the


https://dl.doubtnut.com/l/_QNaYEpjFpusN
https://dl.doubtnut.com/l/_jSo8PlDDELxq

same number of electroms in the outermost
shell .

Based on the above paragraph, answer the
following question:

Which pair of elements do you think will have
similar properties?

a. Sodium and Argon

b. Sodium and Potassium

c. Potassium and Neon

o Watch Video Solution



https://dl.doubtnut.com/l/_jSo8PlDDELxq

6.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

3 04 56789710
A E G
1112 | 13141516 17 | 18
B C, | D F

Which of these is an inert gas ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IoUwQgmxTeHk

7.1n the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

(3.1 415 el 713 Lol
A E G
|11 [ 12 [ 13 | 14 | 15 | i6jnianjume
' B | C D F

Which of these is a halogen ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MZzaOkDwiawi

8.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

304 56789710
A . i E G
1112 13 [ 14 15[ 16 | 17 | 18
. B | C D F

Which of these are metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_O48iwWYtp1MB

9.In the following table, six elements A, B, C, D,
E and F (here letters are not the usual symbols
of the elements) of the modern periodic table

with their atomic numbers are given.

3|4 5[6][7 |8 910

A | | E G
11| a2 13 | 14| 15 | 16 17 | 18
' B C D £

If B combines with F, what would be the

formula of the compound formed?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZubcGyNodA05

10. In the following table, six elements A, B, C,
D, E and F (here letters are not the usual
symbols of the elements) of the modern
periodic table with their atomic numbers are
given.

L

Write the electronic configuration of C and E.

o View Text Solution



https://dl.doubtnut.com/l/_DuiTqPbFbuax

11. A scientist was studying reactions of metals
and nonmetals. He knew group 1 and 2
elemetals. So, he chooses different elements
from group 1, group 2 and group 17.

What is valency of magnesium?

o Watch Video Solution

12. A scientist was studying reactions of metals
and nonmetals. He knew group 1 and 2

elemetals. So, he chooses different elements


https://dl.doubtnut.com/l/_M0sdLXwT43tZ
https://dl.doubtnut.com/l/_T16JGds3lxhA

from group 1, group 2 and group 17.
Name the group 17 element which forms a
diatomic molecule and exists in solid state at

room temperature.

° Watch Video Solution

13. A scientist was studying reactions of metals
and nonmetals. He knew group 1 and 2
elemetals. So, he chooses different elements

from group 1, group 2 and group 17.


https://dl.doubtnut.com/l/_T16JGds3lxhA
https://dl.doubtnut.com/l/_vz9CBYQPs8s0

Name the group 17 element which belongs to

the same period as sodium.

O Watch Video Solution

14. A scientist was studying reactions of
metals and nonmetals. He knew group 1 and 2
elemetals. So, he chooses different elements
from group 1, group 2 and group 17.

Write the formula of compound formed in the

reaction between lithium and bromine.

° Watch Video Solution



https://dl.doubtnut.com/l/_vz9CBYQPs8s0
https://dl.doubtnut.com/l/_3OPpJlp1sEwq

15. A scientist was studying reactions of metals
and nonmetals. He knew group 1 and 2
elemetals. So, he chooses different elements
from group 1, group 2 and group 17.

Write the formula of compound formed in the

reaction between calcium and fluorine.

° Watch Video Solution

Apply Your Knowledge


https://dl.doubtnut.com/l/_3OPpJlp1sEwq
https://dl.doubtnut.com/l/_UdIrK0yCQFXg

1. What are the types of matter?

o Watch Video Solution

2. What are the types of elements?

o Watch Video Solution

3. What are the smallest particles of matter

called?

o Watch Video Solution



https://dl.doubtnut.com/l/_rMWmYBdBqd55
https://dl.doubtnut.com/l/_2co9qP757VC3
https://dl.doubtnut.com/l/_18ce7ZymIokF

4, What is the difference between the

molecules of elements and compounds?

o Watch Video Solution

5. Identify Dobereiner's triads from the
following groups of elements having similar

chemical properties.

Mg (24.3), Ca(40.1), Sr(87.6)

° View Text Solution



https://dl.doubtnut.com/l/_18ce7ZymIokF
https://dl.doubtnut.com/l/_WYcH80YosP0g
https://dl.doubtnut.com/l/_okjDp1pHnCPE

6. lIdentify Dobereiner's triads from the
following groups of elements having similar

chemical properties.

S(32.1), Se(79.0), Te(127.6)

o Watch Video Solution

7. ldentify Dobereiner's triads from the
following groups of elements having similar
chemical properties.

Be(9.0), Mg(24.3), Ca(40.1)


https://dl.doubtnut.com/l/_okjDp1pHnCPE
https://dl.doubtnut.com/l/_Kf36gEinFZ1q
https://dl.doubtnut.com/l/_sBxubHLfkPao

° Watch Video Solution

8. There are some vacant places in the
Mendeleev's periodic table. In some of these
places, the atomic masses are seem to be
predicted. Enlist three of these predicted

masses along with their group and period.

° View Text Solution



https://dl.doubtnut.com/l/_sBxubHLfkPao
https://dl.doubtnut.com/l/_u7ToVhb5svqW

9. Due to uncertainty in the masses of some of
the elements, a question mark is indicated
before the symbol in the Mendeleev's periodic

table. What are such symbols?

o View Text Solution

10. Would you place the two isotopes of
chlorine, CI-35 and Cl|-37 in different slots

because of their different atomic masses or in


https://dl.doubtnut.com/l/_ZyLLJrBRrhcE
https://dl.doubtnut.com/l/_9CtMkwJtVGES

the same slot because their chemical

properties are the same ? Justify your answer.

° Watch Video Solution

11. Write the molecular formulae of oxides of
the following elements by referring to the
Mendeleev's periodic table: Na, Si, Ca, C, Rb, P,

Ba, Cl, Sn

o Watch Video Solution



https://dl.doubtnut.com/l/_9CtMkwJtVGES
https://dl.doubtnut.com/l/_nYOt8iDgx2UP

12. Write the molecular formulea of
compounds of the following elements with
hydrogen by referring to the Mendeleev's

periodic table: C, S, Br, As, F, O, N, Cl

o Watch Video Solution

13. Position of the elements in the periodic
table:

How is the problem regarding the position of

cobalt (.5900) and nickel (.59Ni) in


https://dl.doubtnut.com/l/_V2m7TMy1KkWn
https://dl.doubtnut.com/l/_tKfktQNBrP7I

Mendeleev's periodic table resolved in modern

periodic table?

° Watch Video Solution

14. Position of the elements in the periodic
table:
How did the position of ‘I’? C1I and ?g CI get

fixed in the modern periodic table?

o Watch Video Solution



https://dl.doubtnut.com/l/_tKfktQNBrP7I
https://dl.doubtnut.com/l/_6AnqpiU61jgm

15. Position of the elements in the periodic
table:

Can there be an element with atomic mass 53
or 54 in between the two elements, chromium

52 55
.94 Cr and manganese .52 Mn ?

o Watch Video Solution

16. Position of the elements in the periodic
table:

What do you think? Should hydrogen be


https://dl.doubtnut.com/l/_gPyWxVXqInrq
https://dl.doubtnut.com/l/_FK1RQTz2eo83

placed in group 17 of halogens or group 1 of

alkali metals in the modern periodic table?

o View Text Solution

17. Go through the modern periodic table
(Textbook page no. 23) and write the names
one below the other of the elements of group

1.

o View Text Solution



https://dl.doubtnut.com/l/_FK1RQTz2eo83
https://dl.doubtnut.com/l/_K3aYYHWF4Qk9

18. Write the electronic configuration of the

first four elements in this group.

o View Text Solution

19. Which similarity do you find in their

configuration?

o View Text Solution



https://dl.doubtnut.com/l/_RKJvjw96ZI6w
https://dl.doubtnut.com/l/_wCvEaBcNvVA5

20. How many valence electrons are there in

each of these elements?

° View Text Solution

21. On going through the modern periodic
table, it is seen that the elements Li, Be, B, C, N,
O, F and Ne belong to the period 2. Write

down electronic configuration of all of them.

o Watch Video Solution



https://dl.doubtnut.com/l/_zanLr100zYQ5
https://dl.doubtnut.com/l/_5w2UFiPtY023
https://dl.doubtnut.com/l/_NGLMwam9LpKn

22. Is the number of valence electrons same

for all these elements?

° View Text Solution

23.Is the number of shells the same in these ?

° View Text Solution

24. The elements in the third period, namely,

Na, Mg, Al, Si, P, S, Cl and Ar have electrons in


https://dl.doubtnut.com/l/_NGLMwam9LpKn
https://dl.doubtnut.com/l/_E0fFoNrkDA1v
https://dl.doubtnut.com/l/_vEaD19QdtBNY

the three shells: K, L and M. Write down the
electronic configuration of these elements and

confirm.

° Watch Video Solution

25. What are the values of n for the shells L

and M?

A.1and 2

B.1and 3

C.2and 3


https://dl.doubtnut.com/l/_vEaD19QdtBNY
https://dl.doubtnut.com/l/_TOeee9w4zzUM

D.3and 4

Answer: C

o Watch Video Solution

26. What is the maximum number of electrons

that can be accommodated in a shell? Write

formula.

o Watch Video Solution



https://dl.doubtnut.com/l/_TOeee9w4zzUM
https://dl.doubtnut.com/l/_akHI4kVsMnAg

27. Deduce the maximum electron holding

capacity of the shells K, L and M?

° Watch Video Solution

28. What is the relationship between the
electronic configuration of an element and its

valency?

° Watch Video Solution



https://dl.doubtnut.com/l/_XDT991z9GsEe
https://dl.doubtnut.com/l/_iilkFg7GPBiP

29. The atomic number of beryllium is 4 while
that of oxygen is 8. Write down the electromic
configuration of the two and deduce their

valency from the same.

o Watch Video Solution

30. The table on Textbook page no. 25 is made
on the basis of the modern periodic table.

Write in it the electronic configuration of the


https://dl.doubtnut.com/l/_NhBYWPABYqZ8
https://dl.doubtnut.com/l/_NKkIF4YyQzN1

first 20 elements below the symbol and write

the valency below it.

o View Text Solution

31. What is the periodic trend in the variation
of valency while going from left to right within
a period? Explain your answer with reference

to period 2 and 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_NKkIF4YyQzN1
https://dl.doubtnut.com/l/_XCEovdvoOdAy

32. What is the periodic trend in the variation
of valency while going down a group? Explain
your answer with reserence to the group 1,

group 2 and group 18.

o Watch Video Solution

33. By referring to the modern periodic table,
find out the periods to which the above
elements belong.

L

L

| & I


https://dl.doubtnut.com/l/_WXH1427Dlaww
https://dl.doubtnut.com/l/_uK3hDZvqlA7k

| ¥ View Text Solution |

34. State the period to which the above

elements belong.

Element O B | C | N | Be Li

Atomic radius (pm) | 66 | 88 | 77 | 74 | 111 152

o Watch Video Solution

35. Arrange the above elements in a

decreasing order of their atomic radii.

Element O|B | C|N | Be Li
Atomic radius (pm) 66 | 88 ‘ 77 | 74 111 152



https://dl.doubtnut.com/l/_uK3hDZvqlA7k
https://dl.doubtnut.com/l/_MgqXGfXRQRnR
https://dl.doubtnut.com/l/_hmpOPETCgchZ

° Watch Video Solution

36. Does this arrangement match with the
pattern of the second period of the modern

periodic table ?

Element Ol B | C w N | Be  Li
Atomic radius (pm) 66 | 88 77 | 74 111 152

o Watch Video Solution

37. Why this arrangement of elements is

similar to the above period of the modern


https://dl.doubtnut.com/l/_hmpOPETCgchZ
https://dl.doubtnut.com/l/_eTunKC7rpBa2
https://dl.doubtnut.com/l/_057sFj3nSMqt

periodic table ?

Element O B|C N | Be Li
Atomic radius (pm) 66 88 | 77 | 74 111 152

° Watch Video Solution

38. Which of the above elements have the

biggest and the smallest atom ?

Element O/ B! C N | Be Li
Atomic radius (pm) 66 88 77 | 74 | 111 152

° Watch Video Solution



https://dl.doubtnut.com/l/_057sFj3nSMqt
https://dl.doubtnut.com/l/_MJucF9L49zuQ

39. By referring to the modern periodic table,
find out the group to which the above

elements belong.

1 Element 'K | Na Rb | Cs  Li
| Atomic radius (pm) | 231 8¢ 244 262 151

o Watch Video Solution

40. Arrange the above elements vertically

downwards in an increasing order of atomic


https://dl.doubtnut.com/l/_7rnxijF6Yz0l
https://dl.doubtnut.com/l/_gEtIr6DY1RUP

radii.

Element K | Na Rb Cs Li|
Atomic radius (pm) | 231 | g6 { 244 ;62{ 15Ql

o Watch Video Solution

41. Does this arrangement match with the
pattern of the group 1 of the modern periodic

table ?

Element' R

‘K‘Nawa Cs Li

] R S B |

L S _— E—
| Atomic radius (pm) | 231 136 244 262 15

o Watch Video Solution



https://dl.doubtnut.com/l/_gEtIr6DY1RUP
https://dl.doubtnut.com/l/_R4uqE4svNzTN
https://dl.doubtnut.com/l/_PUtRGsEBkVUH

42. Which of the above elements have the

biggest and the smallest atom ?

Element K 'Na Rb| Cs T Li |
Atomic radius (pm) | 231 | 186 244 | 262 | 15ﬂ

o Watch Video Solution

43. What is the periodic trend observed in the

variation of atomic radii down a group ?

[ Element K | Na Rb | Cs | Li
| Atomic radius (pm) | 231 | 186 244 262 151

° View Text Solution



https://dl.doubtnut.com/l/_PUtRGsEBkVUH
https://dl.doubtnut.com/l/_lJLvcaQMT1fU

44, lLook at the elements of third period.

Classify them into metals and nonmetals.

o View Text Solution

45. On which side of the period are the metals

? Left or right?

° View Text Solution



https://dl.doubtnut.com/l/_3kBeyL2oO0kK
https://dl.doubtnut.com/l/_4SJr4B0SqjL3

46. On which side of the period did you find

the nonmetals?

o View Text Solution

47.nert gas elements

o View Text Solution

48. Uses of various elements

o View Text Solution



https://dl.doubtnut.com/l/_W7RVIvzIBuE5
https://dl.doubtnut.com/l/_iqhpyTgiEyaF
https://dl.doubtnut.com/l/_v49YkSqOiC0Q

49. Find out the applications of all the inert
gases, preparea a chart and display it in the

class.

o View Text Solution

Chapter Assessment

1. Identify the odd one out justify.

Si, Ge, As, Ga

| e |


https://dl.doubtnut.com/l/_v49YkSqOiC0Q
https://dl.doubtnut.com/l/_To9MZCkMRrTe
https://dl.doubtnut.com/l/_aGXMdhLXMrSX

& Watch Video Solution I

2. True or false. If false, write the correct
sentence.
Calcium reacts with water to form calcium

hydroxide and oxygen gas

o Watch Video Solution

3. Match the following elements given in

Column 'A" with its position in the modern


https://dl.doubtnut.com/l/_aGXMdhLXMrSX
https://dl.doubtnut.com/l/_OLe3jTZqgWCq
https://dl.doubtnut.com/l/_qOfA1fkO9a0K

periodic table given in Column 'B'.

Column ‘A’ Column ‘B’
Group 1 and period 1

a. Phosphq_rus
b Helium

Group 18 and period 1
Group 15 and period 2
Group 15 and period 3

PRI —=

° Watch Video Solution

4. Elements belonging to the same group have

the same valency. Give reason

o Watch Video Solution



https://dl.doubtnut.com/l/_qOfA1fkO9a0K
https://dl.doubtnut.com/l/_Z44rKKkyHcYL

5. Atomic radius goes on increasing down a

group. Give reason

o Watch Video Solution

6. What are the limitations of Mendeleev's
periodic

table?

o Watch Video Solution



https://dl.doubtnut.com/l/_5lhm45yEql1A
https://dl.doubtnut.com/l/_KHhuIrfsTN52

7. Atomic size of carbon is less than that of

boron. Explain the statement.

o Watch Video Solution

8. The atomic masses of three elements X, Y
and Z having similar chemical properties are
7,23 and 39 respectively

(a) Calculate the average atomic mass of
elements X and Z

(b) How does the averge atomic mass of


https://dl.doubtnut.com/l/_d3lSl7F2zXg2
https://dl.doubtnut.com/l/_xBw9z1bOtuz9

elements X and Z compare with the atomic
mass of element Y

(c) Which law of classification of elements is
illustrated by this example?

(d) What could the elements X, Y and Z be?
(e) Give another example of a set of elements

which can be classified according to this law.

o Watch Video Solution

9. Mendeleev predicted the existence of

certain elements not known at that time and


https://dl.doubtnut.com/l/_xBw9z1bOtuz9
https://dl.doubtnut.com/l/_iKlDOdGVTLrz

named two of them as Eka-Silicon and Eka-
aluminium

(a) Name the elements which have taken the
place of these elements

(b) Mention the group and the period of these
electron in the modern periodic table

(c) Classify these elements as metals, non-
metals or metalloids

(d) How many valence electrons are present in

each one of them ?

o Watch Video Solution



https://dl.doubtnut.com/l/_iKlDOdGVTLrz

